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Higher Technological Institute
Civil Engineering Department
Subject: Hydraulics (1)
Dr. Amir M. Mobasher

Sheet (2) — Specific Energy & Applications

Q1: Define each of the following:
a) Specific energy
b) Alternate depths
Q2: Develop an expression for each of the following:
a) Critical depth
b) Critical specific energy
c) Critical velocity
For both (I) rectangular section & (II) any other section

Q3: Calculate the specific energy when 6.25 m’/s flow in a rectangular channel of
3m wide at a depth of Im

Q4: Determine the alternate depths for 30 cfs flow in a rectangular channel 6.5 ft
wide if the specific energy is 4 ft.

Q5: A 7m wide rectangular channel carries a discharge of 160 m’/s at a uniform
depth of 3.40 m. Manning's coefficient equals 0.022. Determine the channel
slope, critical depth, and Froude's number.

Q6: For a discharge of 40 m’/s, determine the critical depth and critical slope for

(a) Trapezoidal channel with bed width 7.5 m and side slope of 1:1.
(b) Rectangular channel with bed width 7.5 m.

Q7: Twenty two cubic meters per second flow in a rectangular channel of 6 m width
having n of 0.017. Plot accurately the specific energy diagram for depths from
0 to 3 m using the same scale for y and E. Determine from the diagram:

(a) The critical depth.

(b) The minimum specific Energy.

(c) The specific energy when the depth of flow is 2 m.

(d) The depths when the specific energy is 2.5 m.

(e) The depth which is the alternate depth for 1.5 m depth.

(f) What type of flow exists when the depth is: (i) 0.6 m. (ii) 1.8 m.

(g) What are the channel slopes necessary to maintain these depths?

(h) What types of slopes are these?

(k) What is the critical slope assuming the channel to be of great width?

Q8: Flow occurs in rectangular channel of 20 ft width and has a specific energy of
10 ft. Plot accurately the g-curve and determine the following from the curve:

a) The critical depth and maximum flow rate.

b) The flow rate at a depth of 8 ft.

c) The depths at which a flow rate of 1000 cfs may exist
d) The flow condition at these depths
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a) Ve = UM
\9) E\Mih r=— \66

) V= 2m —> £ =2.1%

c;L) E:ZS — j|-.-::2,.33) ‘jz._.___o,é
e) Ji=\S — Y, _ogs

ﬁ) 3?—"— 0-6 (S“E’QYCY{&'JCQU Y= 1.8 (Subcy,'h‘(qu -
K) S|C."-'-'—' %hl — 1.8 !0-6|7!z — 0-0027
3‘;‘/3 Un)‘/B’ *

‘3) ok Y= 0.6 Q =27 h,,g/S N= o0-6lF

A= 6(06) = 36
P = 6 + 2(°'€)= 3.2

- 2/3 \/
22 = (_3_5) (3.6) s
oo} 3.2
= S = 0027 > 00027 (( steep slope))
A= 608) = \0F
P = 6+ 2(‘-3) = 1.6
213z 2
- .._L_.. 103
L 0-0l3 ('TZ) > (\0?)
S = 0001 SQ =0-002% (( M“"L S‘OEQ »
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, Jp= 2.24 Ft

, Vo = SuperCritical

- 43


abd
Text Box

abd
Text Box

abd
Text Box
(8)  


	LEC2
	Hy-03-01.gif
	Hy-03-02.gif
	Hy-03-03.gif
	Hy-03-04.gif
	Hy-03-05.gif
	Hy-03-06.gif
	Hy-03-07.gif
	Hy-03-08.gif
	Hy-03-09.gif
	Hy-03-10.gif
	Hy-03-11.gif
	Hy-03-12.gif
	Hy-03-13.gif
	Hy-03-14.gif
	Hy-03-15.gif
	Hy-03-16.gif
	Hy-03-17.gif
	Hy-03-18.gif

	Sheet 2 - Hydraulics (1) - HTI
	SOL2
	Hy-03-01.gif
	Hy-03-02.gif
	Hy-03-03.gif
	Hy-03-04.gif
	Hy-03-05.gif
	Hy-03-06.gif
	Hy-03-07.gif
	Hy-03-08.gif
	Hy-03-09.gif
	Hy-03-10.gif
	Hy-03-11.gif
	Hy-03-12.gif
	Hy-03-13.gif
	Hy-03-14.gif
	Hy-03-15.gif
	Hy-03-16.gif
	Hy-03-17.gif
	Hy-03-18.gif




